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Attempt ﬁ't"e questions in all, selecting at least
two questions from each Section.

Simple calculators are allowed.

Secrion A (Inventory Management)

1. (@) Describe briefly the EOQ concept: What are its
limitations? Explain also the terms (i) Lead time, (if) .
Reorder point, (iii) Stock-out cost, (iv) Ordering cost
/ Setup cost. - ) S B

. (b) Each unit of an item costs a company Rs. 40/- with
annual holding cost of 18% of unit cost for interest
charges, 1% for insurance, 2% allowance for
obsolvescence, Rs. 2/- for building overhead, Rs. 1-50
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2.(a)

(b)

3. (a)

2
for damage and loss and Rs. 4/- for miscellaneous
costs. If the annual demand for the item is constant
at 1000 units and each order costs Rs. 100/- to place,
calculate economic order quantity and total cost of
stocking the item. If the supplier delivers batches of
250 units only, how does this affect the costs?
Describe an appropriate ordering policy if the lead
time 1s constant at () 1 month, (i7) 4 months. 111

Formulate and solve 3 discrete, deterministic

demand inventory model when shortages are not
allowed. _ 11

Discuss a multi-item  deterministic demand
inventory  model by taking a constraint on the
maximum number of orders placed per year into
consideration. State the procedure also to find the
optimal policy. 11

Differentiate between “‘all ynit quantity” .and
“‘incremental quantity”’ discount.

A factory requires 1500 units of an item per month,
each costing Rs. 27/-. The cost perorderis Rs. 150/-
and inventory carrying charges work out to 20% of
average mventoxy Find- out the economic order
quantity and the number of orders per year. Would
you accept a price discount of 2% on mlmmum
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supply quantity of 1200 units? Compare the total

cost in both the cases. | 12
(b) Discuss a production scheduli_ng model indetail. 10

4.(a) Formulate and soive a contmuous time dependent,
single period, stochastic’ demand inventory model:
' 12
(b). From the fol]owmg details, draw a plan of ABC
selective control: :

Item Unfts Unit Cost (Rs.)

1. 9,000 7
2. 26000 0 5
3. 1,600 - 12

4. 800 24

5. 40,000 T .3:50

6, 42,000 2:50

7. 62,000 2:20

8. 5000 550

9. 500, 1000

10. 31,000 .40

1. 13,500. . 910 |
12. 6100 g2 1012

" P.T.O.
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5. (a)

®)

6. (a)

(&)

7.(a)

4
Secmon B (Queueing Theory)

What types of questions are sought to be answered
in analysing a queueing system? [ist various types
of configurations of service facility in queueing
system. . ' | %112

Obtain steady state probability distribution of
number of units in the System for a generaljzed
MIM|1 | FCFS) queueing model.

Discuss also the cases (i) Queue with ample

server, (i) Queue with discouragement. 15

Derive steady state difference equations for MM
ClK|FCF S) queueing system. _ 11
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(b) Discuss machine-interference problem. 11

8.(a) Find'mean and cumulative distribution function for
Erlang distribution. ' 7

“(6) Obtain the expression for average number of ,stageé
in the queue and in the systen under steady state. for
(M| E;] T : 0| FCFS) queueing model. 1512



